BEAD GEXEF - BTT )

F4F4R | H
b 1 X % # F O A | 5 7T

B 7 B o X 6,673 13,392 6,973 6,419

X B # K l,175 2,920 1,439 1,481

£ F # K 575 1,480 756 724

N RO K 80 2,669 1,355 1,314

Bl %&£ # K 6,821 14,843 7,265 7,578

Nn |’ R # X 1,290 3,141 1,523 1,618

ik x M # K 1,050 2,520 1,243 1,277

it & & # K 7,818 18,803 9,033 9,770

BE o M o X 6,224 15,944 7,943 8,001

& 5 32,606 75,712 37,530 38,182
fo4F4R | B

Hw K & B T 4 tH#H B | A 0 B £°3

BE 7 U X BETEIATA 4,509 9,367 4,698 4,669
¥ P 182 339 190 | 49

® B 420 835 424 41|

£ L o H 737 1,326 835 49|

g R H 284 507 274 233

% H] 54| 1,018 552 466

o ORX 3 6,673 13,392 6,973 6,419

N E # X = B q0 221 112 109
X & 806 1,996 980 1,016

=0 1| | 44 369 181 188

+ K 18 #r 8 135 334 166 168

A - S 1,175 2,920 1,439 1,481

k P # K ® B H 136 356 182 174
& fF 16 39 17 22

¥ @\ H | 24 408 195 213

& & H 96 236 I 14 122

R HT 133 275 162 113

K & 70 166 86 80

e K 3 575 1,480 756 724

N R O K N R H] 178 426 217 209
BN R H | 46 401 205 196

7 PR HT 31 74 35 39

B R ¥ 45| 1,318 677 641

g B 64 178 86 q2

2 1] 110 272 135 137

o K 3 980 2,669 1,355 1,314
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BEAD GBXF - BT T35

F4F4R | H
i K % Bq T 4% #HF B | A = B -8
Bl % # X | Bl & H 625 1,54 746 795
F9 & %7 B 8T | 2 2 0
A i HT | 64 420 202 218
m v B 707 1,632 793 839
& % 6 925 2,181 1,012 l,169
Bl % ] 101 401 162 239
= & 1,897 3,927 1,958 1,969
EZEE | TB 218 412 207 205
B 2TB8B 422 866 4217 439
8 3 T8 456 763 388 375
8 4 TB 711 1,364 704 660
MW I 30 18 12
NGB OFE S HT 430 g2 452 460
FE EC & %7 E 0T 17 45 19 26
N wE o ET 136 347 175 172
o X 6,82 14,843 7,265 7,578
IR K3t B R AR ET 1,290 3,141 1,523 1,618
#H X3 1,290 3,141 1,523 1,618
it XX R i X & ¢ € 76 233 118 115
& b ¥ @ E] 65 152 72 80
A Bk OE T 111 263 | 24 139
2 @\ 65 153 78 75
it # H 73 203 100 103
N OB 31 88 44 44
& ‘A 63 182 94 88
X B 6 19 8 I
e | TH 92 192 10| ql
a2 TH 89 202 94 108
ENaE3TAH 106 217 106 |11
a4 TH 135 311 151 1 60
BArES5TEH 54 125 63 62
BArE6TEH 84 180 90 q0
A - G- 1,050 2,520 1,243 1,277

2/4R—=Y




EEAD (X3 - BTT 5)
F4F4R | H
H B % Bq T 4% #H HF R A = B -8
LtES®RE | EWw I TH 180 407 192 215
£EWL2TBH 201 457 208 249
£WL3TBH 175 398 202 196
£ 4 TBH 344 913 399 514
£WL5TAH 271 619 292 327
fFWL6TRH 285 692 349 343
£WL 7 T8 231 582 283 299
£WL 8 TBH 271 615 304 311
WmEITB 432 925 428 497
WmwWE2TB | 29 348 167 181
W¥E3ITBHE 232 523 273 250
WE 4 TEB 152 362 175 187
W¥ESTBH 240 569 273 296
WwW¥E6TRBH 266 640 298 342
NS T B 29 65 34 31
N2 T B 351 qlq 457 462
N3 T B 178 400 205 195
NS4 T B 572 1,258 578 680
&1 TH 204 478 240 238
& 2T7TEH 230 582 280 302
T &3TH 122 312 166 | 46
& 4T7TH 265 681 323 358
T &5TEH 190 438 19 247
BARE | TH 178 475 240 235
BRE2TH 207 577 279 298
vHRE3ITHE 70 189 q4 95
BARE4TH 205 464 223 241
PHRESTH 292 785 367 418
Afk& | TH 158 397 198 199
A& 2TH 167 419 212 207
A& 3TH 318 776 391 385
AfR&4TH 673 1,538 712 826
# X E 7,818 18,803 9,033 9,770
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BEAD GBXF - BT T35

F4F4R | H
H B % Bq T 4% #H HF R A = B -8
Ry MR | @yl TH 166 740 490 250
BT E2TH 165 422 215 207
By aE3TH 190 454 228 226
BT E4THE 278 759 361 398
o ES5TH 342 832 381 45|
By R 6TH 307 q01 455 446
By ETTBE 418 I, 147 59 | 556
W/ NI TE 284 705 333 372
W/ N2TH 224 568 274 294
W/ N3TH 357 982 474 508
W/ N4TH 285 773 383 390
W/ N5TH 270 729 361 368
wr e TH 488 1,110 555 555
WrE2TH 434 985 48| 504
wrE3TH 353 1,017 515 502
WwWrE4TH 313 539 256 283
BRI TE 270 719 360 359
BR2TE 436 1,029 517 512
BR3TAH 299 747 372 375
BR 4 TEBE 327 603 287 316
B | TH | 136 32 |04
v B 3 TH 17 47 22 25
#H K3 6,224 15,944 7,943 8,001
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